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Integers - revision

I solved these tasks with my pupils of the 6th grade at the end of the lesson about integers. We started revision with PPT presentation (I used projector) which includes basics about operations with integers.

After projection we continued to solve down complex tasks.


Of course, if the students have problems with easier tasks, then would be necessary to solve such tasks into notebooks, too.
Integers - revision
Integers:   ...-3, -2, -1, 0, 1, 2, 3...

Z = { ...-3, -2, -1, 0, 1, 2, 3... }      -  set of integers
1.)
a)
16 - 3 + 14 -16 -3 + 14  =  28 - 6  =  22

b)
- ( - 8 ) + ( - 6 ) - ( + 9 ) + ( + 7 )  =  


= 8 - 6 - 9 + 7 = 


= 15 - 15 = 


= 0


c)
- 5 - 6 - 3 - 2 = - 16

d)
- 5 ∙ ( - 6 ) ∙ ( - 3 ) ∙ ( - 2 ) = 180
2.)
a)
24 : (  - 8 )  - 3 ∙ ( - 11 ) =



= - 3 + 33 =



= 30


b)
- 24 : ( - 2 ) - ( + 9 ) + 14 : ( - 7 )  - ( - 9 ) ∙ ( - 3 ) =



= 12 - 9 - 2 - 27 =



= 12 - 38 =



= - 26 


c)
- ( + 7 ) + ( - 16 ) : 4 - 1 - 28 : ( - 7 )  =



= - 7 - 4 - 1 + 4 =


= - 8


d)
- 4 : 2  - ( - 3 ) ∙ ( - 1 ) =



= - 2 - 3 =



= - 5


e)
-7 + 3 · ( -3 ) - ( -2 ) - 1  - 8 : ( -2 ) =



= - 7 - 9 + 2 - 1 + 4 =



= 6 - 17 =



= - 11 

3.)
a)
( - 7 - 4 ) ∙ ( - 4 ) = 


= - 11 ∙ ( - 4 ) = 


= 44

b)
- 8 ∙ ( 2 - 9 ) = 


= - 8 ∙ ( - 7 ) = 


= 56

c)
- ( - 3 + 5 ) ∙ 2 =  


= - 2 ∙ 2 = 


= - 4

d)
- ( - 9 + 6 ) ∙  4 =  


= - ( - 3 )  ∙ 4  = 


= 12

e)
- ( - 4 - 8 ) · ( - 5 + 9 ) =



= - ( - 12 ) · 4 =



= 48


f)
 9 - ( - 15 + 22 ) · ( - 7 ) =



= 9 - 7 · ( - 7 ) =



= 9 + 49 =



= 58


g)
- 11 - ( 14 - 23 ) · ( 17 - 9 ) =



= - 11 - ( -9 ) · 8 =



= - 11 + 72 =



= 61

4.)
a)
6 · ( 28 - 4 · 9 ) =


= 6 · ( 28 - 36 ) =



= 6 · ( -8 ) =



= - 48


b)
[ - 16 + 5 · (-8) ] : (-7) =


= [ - 16 - 40 ] : (-7) =



= - 56 : (-7) =



= 8


c)
- 11 + [ - 8 · (-6)  - (-4) · (-7) ] : [ 36 : (-9) ] =



= - 11 + [ 48 - 28 ] : ( -4 ) =



= - 11 + 20 : ( -4 ) =



= - 11 - 5 =


= - 16


d)
- 12 - { 8 · [ 6 - ( 7 - 11 ) · (-2) ] } =


= - 12 - { 8 · [ 6 - ( -4 ) · (-2) ] } =



= - 12 - { 8 · [ 6 - 8 ] } =



= - 12 - { 8 · ( -2 ) } =



= - 12 - ( -16 ) =



= - 12 + 16 =



= 4

In tasks c) i d) are the same numbers, but different operations!!!


Let's perceive differences in methods and in results!








In tasks from c), let's be careful! We should first calculate expression in parentheses..., not to drop parentheses (so that minus says to change all signs)...


Such mistakes are often!!!








